10.

@?o
Explanation:
0

b2 —a?
T2ab
Explanation:
-1 oa?

2ab

() tan’!

tan

(@) x%+y2 =36
Explanation:

x2+y2=36

b) &

Explanation:
64
5

=

(b) P(ANB)
Explanation:
P(ANB) =3

©—3

Explanation:
1

2

(c) 720
Explanation:
720

(d) 336
Explanation:
336

(c) f is not periodic
Explanation:
f is not periodic

(d) log 4-1og 3
Explanation:
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

log 4-1og 3

7
®) —5
Explanation:
7
6

@ (~pA~q)V(qV~1)
Explanation:

(~pA~q)V(qV ~1)

(d)-1
Explanation:
-1

(@) kI
Explanation:

k%1

®)
Explanation:

12
13

127
(b) tan™ 7

Explanation:

127

tan 11

2¢
(a) a+b+c

Explanation:
2c
a+b+c

@1

Explanation:
s

4

(b) esin2 Y

Explanation:

in2
eSin*y

@?o
Explanation:
0

1
@ 3
Explanation:
1

2

(d)-2 and 5
Explanation:
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23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

-2 and 5

(@ (@1,0,1)
Explanation:
(1,0,1)

()0
Explanation:

0

(a) no value of A
Explanation:
no value of A
(a)-74
Explanation:
-74

(d)2(x-1)?+7(x- D) (y-1)+3(y-1)?=0
Explanation:

2x-1)2+7(x-1) (y-1) +3(y-1)2%=0

~1
@t=—+
Explanation:
t= =L

5

@) (21, 5, L;)

Explanation:

5 10
(21, g,?)

(a) 1000x + 1200y < 7600, 12x +8y < 72,x > 0,y > 0
Explanation:
1000x + 1200y < 7600, 12x + 8y < 72,x > 0,y.> 0

(@) -(log19 %)*
Explanation:

-(log x)°

1
(b) —
(1+z)?(1-2) 2

Explanation:
1

3

(14z)?(1—x) 2

(91
Explanation:
1
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34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

© /2

Explanation:
2

3

(a) decreasing
Explanation:
decreasing

1
@ —17
Explanation:

_ 1
11

(d) 3x + 2y = 3,/2
Explanation:
3x +2y =34/2

(Jl+logx=t
Explanation:
1+logx=t

4
(a)%+ixsin2x+lcos2x+c

8
Explanation:

z! 1. . 1
T—I—szm2x+§c052x+c

22—

1 1
(© § log 5775 +
Explanation:

1 1 z2-1
= 10
198 |2

e

@e* (25) +c

Explanation:

z
e (m_+4) +c

3ma2
®) 55~

Explanation:
3ra2
2

)6
Explanation:
6

(b) x + cosec (x +y) =c
Explanation:
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45.

46.

47.

48.

49.

50.

X + cosec (x+y)=c

4

@
Explanation:
4

5

®) 5
Explanation:
1

6
ba=4.b=3
Explanation:
2=4b=1
© 5
Explanation:
1

B

(b) 1.26
Explanation:
1.26

496

(9 759
Explanation:
496

729
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